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SECTION A (READING) (7)
I. Read the passage carefully and answer the questions

JURASSIC PARK
Do you enjoy being so terrified during a film that you can hardly
breathe? If so, then [ would recommend that you watch ‘Jurassic Park.’
But be warned- it’s not the best DVD to select when you are alone at
home.
The film is set on a remote island and centres around the work of a mad
scientist who has, through experimentation, managed to breed dinosaurs
in his lab. He hopes to create a dinosaur theme park and attract visitors
in big numbers. To test out the impression his project might make in the
future, he invites some guests for a preview.
The suspense is maintained throughout the film and the timing of the
dinosaur attacks is perfect too. Just when you think it’s safe to open
your popcorn, another rampaging monster appears. However, the
director does his best to make sure the tension is mixed with humour.
For example, in one special effect we see a baby dinosaur hatching. He
breaks out of his shell with such a cunning expression that I burst out
laughing.
The scientist in ‘Jurassic Park’ has interfered with genetics and caused a
catastrophe. It made me think that although scientists have the potential
to bring many benefits, they can also bring terrible consequences.
Try not to miss this film. It’s well-made, entertaining and makes you
think. However, if you’re watching it at home, I don’t think your younger
brothers or sisters should see it. In my opinion, it’s too frightening for
children under ten.

A. In this passage, the scientist has brought out awful consequences.
Why has this negative opinion been created about the scientist? 1

B. Tension is mixed with humour.” How has the director brought out this
situation? 1

C. The film centres around the works of a mad scientist.” Why is the
scientist referred to as ‘mad’? 1

D. Find the word with similar meaning from the passage (Y2x2=1)



(i)disaster (ii)isolated

II. Read the poem carefully and tick the right word from the given

A

B

C

D

E.

F.

options. (Y2x 6 = 3)
LEARNING FROM NATURE

Look at the birds, O children dear!

And learn to be carefree.

Look at the flowers, O little ones!

And laugh and live in joy.

From the deer you can learn to skip,

And learn to sing, from the birds.

Watch the sky and learn to draw,

A hundred scenes from the clouds.

Look at the trees O children dear!

And learn to serve always.

Look at the mountains and streams,

And learn to face the storms.

God has made this lovely world,

For you to see and learn,

Like the Sun you have to shine,

And brighten other’s lives.

. To brighten other’s lives one must .
(i) be a Sun (ii) face storms (iii) shine (iv) learn to serve
. Clouds teach us to .
(i) draw scenes (ii) watch the sky
(iii) draw flowers (iv) draw a hundred scenes
. This world was created for us to .
(i) see and learn (ii) serve always (iii) draw (iv) shine
. The other word for ‘storm’ is .
(i) rain (ii) gale (iii) thunder (iv) snow
The synonym from the poem for ‘help’is
(i) brighten (i) serve (iii) carefree (iv) joy
‘shine’ is .
(i) an adjective (ii) a noun (iii) a verb (iv) an adverb

SECTION-B (WRITING) (8)



III. Given below is a telephonic conversation between Astha and Sonam.
Astha

is about to leave home and won’t be able to meet her mother. She
leaves a

message for mother. Write her message inyour answer sheet in
about 50

words. Put the message in a box. (3)

Sonam: Hello! Can I speak to Mrs. Chopra?

Astha : She is not at home. Is it Sonam speaking?

Sonam: Yes, Astha, where is your mummy? I've a message for her.
Astha : Mummy has gone outside and will be back after half an hour.
What’s the message?

Sonam: Well, the message is from my mother. She was to visit you this
evening but she won’t be able to come.

Astha : What’s the matter? Is aunty alright?

Sonam: Oh, my mummy is O.K. Actually my uncle and aunt have arrived
from Delhi. Mummy will be

busy attending to them.

Astha : I'll inform my mother.

Sonam: Byel!

IV. You are Ajay/ Anjali. You visited Ooty during your Christmas
holidays.

Write a letter to your friend, telling him about your exciting
trip. (5)

SECTION C (GRAMMAR) (6)
V. There is one error, in each line, in the given passage. Write the
correct
and incorrect words. (72x 4 = 2)
1. Yesterday I went to the market with the friend of mine.

2. We take my breakfast together in the morning.
3. There isn’t many water in the bucket.

4. Is this my cat? No, it is not ours.

VI. Use suitable wordsfrom the bracket to make the paragraph
meaningful. (V2 x4 = 2)



After exploring for some distance inland, we ( made, were

making, make ) our way back to the coast. We (intend, were
intending, are intending ) to camp near the beach as we ( found,
were finding, are finding ) that mosquitoes ( are, were, is )

troublesome in the forest.

VII. Make meaningful sentences. (1x2=2)
1. there were/ varieties/ just two or three/ different/ to choose/ decade
ago/

from/ a

2. selling in/ there are/ the / too many/ of/ ice-cream/ market
nowadays

/ brands
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1. Give reason — Expansion of gas is more than liquid. (1)
2. Why is mercury used in thermometers. (1)

3. What should be the name of the ion formed by nitrogen
atom:(1/2x2=1)

(a) nitrogen ion (b) nitride ion

(c) nitronium ion (d) nitrogenide ion

4. What is the correct Valency of Boron ion:
(a) -3 (b) O (c) +3 (d) +/-3

5. Name the following (1)
(a) The pigment which gives green colour to leaves
(b) The pores through which leaves exchange gases

6. Name the chemical used to test for starch . What happens when this
chemical is poured? (1)

7. Mention the effects of heat. (2)



8. Define : (a) Valency (b) Polyatomic ions (1x2=2)

9. The symbol of sodium is Na which does not match with its name.
Justify.
Give another example of the similar element with its symbol. (2)

10. If the pitcher plant is green and carries out photosynthesis then why
does it feed on insects ? (2)

11. Draw the atomic structure of Mg. Write it's electronic configuration
and Valency. (2)

12. Convert 81°C into K. (3)

13. Differentiate between clinical thermometer and laboratory
thermometer. (3)

14. What is the difference between Hydrogen atom, Hydrogen ion and
hydride ion. Explain your answer with electronic configuration of each
particle. (3)

15. Given a brief description of the process of synthesis of food in green
plants? Explain with the help of a diagram. (3)

16.(a) What is symbiosis ? Explain this relationship with the help of an
example (3)

(b) How are the nutrients put back in the soil
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Section A 1X2=2
1. Find the complement angle of 72°

3 . .
2. Express o in decimal form.

Section B 2X4=8
3. A bag of wheat weighs 97.8 Kgs . How much wheat is contained in 25
such
bags ?
4. Express
i) % as a mixed fraction. i) % in its simplest form.

5. Write the number of vertices , edges and faces of a cube. Draw a net of
a cube .

6. Identify a pair of

a) alternate interior angles

b) Corresponding angles from the adjoining figure



Section C 3X4=12
7. Arrange the given fractions in ascending order % , Z , %
8 Divide 0.3546 by 0.27
9. Simplify 2 — Z+-.

10. Subtract the sum of 36.74 and 56.6 from 100
Section D 4x2=8
11. a)A group of students arranged a picnic . Each student contributed

Rs 61-.
The total contribution was Rs 676%. How many students were there
in the
group?
b) Find 2. Of 14.
12. In the following figure line 1 and m are parallel

to each other and line t is a transversal.
Find the value of the angles p,q,r,s
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Differences between SIAL and SIMA. (2)
Mention three characteristics of Igneous rocks. (3)
How are rocks useful to us? (2)
Write any two features of Mantle. (2)
. Give two examples of Sedimentary rocks. (1)
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Differences between SIAL and SIMA. (2)
7. How are rocks useful to us? (2)
8. Write any two features of Mantle. (2)
9. Write three important features of constitutional republic. (3)
10. How many times did Mahmud Ghazni raid India? Explain two of his
infamous attacks (1+2)
11. Mention three characteristics of Igneous rocks. (3)
12. a) Which is the third organ of the government?
b) How does it work? (1+4=5)
13. a) Who was the founder of the Chola dynasty?
b) Explain in brief about Chola administration. (1+4=5)
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Differences between SIAL and SIMA.                                                   (2)
7. How are rocks useful to us?                                                                (2)
8. Write any two features of Mantle.                                                        (2)
9. Write three important features of constitutional republic.                 (3)
10. How many times did Mahmud Ghazni raid India? Explain two of his 
   infamous attacks                                                                              (1+2)
11. Mention three characteristics of Igneous rocks.                                 (3)
12. a) Which is the third organ of the government?
b)  How does it work?                       (1+4=5)
13. a) Who was the founder of the Chola dynasty?
    b) Explain in brief about Chola administration.                  (1+4=5)





